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Solving for r we have r = =, so the radius of the circle is 7 = 5= = 2 ~ 11.46 m.

9 w6
We find the measure of the angle in degrees and then convert to radians. § = 40.5° — 25.5° = 15°
and 15 - g5 rad = {5 rad. Then using the formula s = fr, we have
- 3960 = 3307r 1036.725 and so the distance between the two cities is roughly 1037 mi.

In one day, the earth travels 3= of its orbit which is 32(;'5 rad. Then.
s=0r= - 93,000,000 ~ 1,600,911.3 and so the distance traveled is approximately 1.6 million
miles.

365

The central angle is 1 minute = £° = 515 180 1ad = 155gg rad. Then s = Or = 75 - 3960
~ 1.152 and so a nautical mile is approximately 1.15 mi.

A=13r0=1-10%-1=50m?

6 =2rad, A = 16 m?. Since A = 1%, we have r = /2A4/0 = /2-16/2 = /16 =4 m.

Since the area of the circle is 72 cm the radius of the circle is r = v/ A/m = 1/ 72/w. Then the area
of the sector is A = —r2<9 =12, =6 cm?.



